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QUESTION 1

Your client is considering using Quick Admit to admit students in non-traditional programs. Which two statements
describe the impacts of Quick Admit? 

A. After Quick Admit is completed, students are automatically activated in the program, bypassing the matriculation
process. 

B. Students must still be matriculated into a career and program following Quick Admit. 

C. Users will not be able to use Quick Admit again to add additional program activation rows in the same career. 

D. The program is activated through Quick Admit, but the user must still enter an Academic Plan on the Student
Program/Plan page. 

E. The Program/Plan stack will be activated through Quick Admit, but the student must still be term activated 

Correct Answer: E 

 

QUESTION 2

What security is necessary for students to be able to access the My Academic Information pagelet? 

A. Students will require a specially-designed Program Enrollment permission list. 

B. Students will require additional row-level security under the Set Up SACR menu. 

C. Students will need different roles to both see and interact with the My Academic Information pagelet. 

D. Students will not require any additional Self Service security. 

E. Students will require the CS - Student (ProgEnrl) role. 

Correct Answer: D 

 

QUESTION 3

What is the key Academic Structure consideration in determining how the system calculates GPAs? 

A. Campus 

B. Location 

C. Academic Plan 

D. Academic Program 

E. Academic Career 

Correct Answer: D 
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QUESTION 4

Your client needs to create new Admit Types. Which component needs to be secured to allow the creation of new Admit
Types? 

A. RECRUIT_CAT_TABLE 

B. BASIS_ADMIT_TABLE 

C. ADM_ACTION_TABLE 

D. ADMIT_TYPE_TABLE 

E. ADM_APPLCTR_TBL 

Correct Answer: D 

 

QUESTION 5

Your client assigned communications to students a day ago. The next day when they run Communication Generation
(CommGen), the communication is not generated successfully. What step should be taken to troubleshoot this error? 

A. Ensure that the client has security access to the communication. 

B. Create a new data source, template, report definition, and letter code. 

C. Make sure that Communication Date Range Selection on the CommGen process reflects the date the communication
was assigned. 

D. Assign the communication to the students on a new row. 

E. Run the Reset Communications process. 

Correct Answer: E 
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